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1.

What is the correct order of a conventional water treatment process:

() Disinfection—Sedimentation—Coagulation-—Flocculation—Filtration
(b) Sedimentation—Filtration—Disinfection—Coagulation—Flocculation
(c) Disinfection—Sedimentation—Filtration—Coagulation—Flocculation
(d) Coagulation—Flocculation—Sedimentation—Filtration-»Disinfection

Waste is considered hazardous because of its:
(2) Physical characeteristics

(b) Quantity

(c) Chemical/infectious characteristics

(d) Al ofthe above

{e) None of the above

Which statement below is pot true for environmental hormones?

(a) they are also called endocrine disrupting compounds

(b) they sometimes occur at trace concentrations (ng/L)

(¢) they bicaccumulate, but are not persistent in the environment

(d} they have been proposed to cause decrease in fertility, increases in birth defocts and altered sexual expression

LDy, is used for measuring toxicity of 2 compound,
If compound A has LDsq = 5 mg/L and compound B has LDsy = 7 pg/L, which compound (A or B} is more toxic?

{continue from Question 4) What is one of the problem of this toxicity measuring method?
(a) It neglects the long term (chronic) effect

{b) It is not as accurate as LCs;

(c) It can only be tested on the fish.

{d) It can only be tested on mice.

In sludge digestion, which of the following can be recovered as an energy source?
{a) Methane; (b} Carbon dioxide; {¢) Scum; (d) Carbon monoxide.

HOisa

(a) polar molecule

(b) non-polar molecule

(c) both polar and non-polar molecule
(d) neither of the above

In a clean lake environment (not heavily polluted), compound X (Molecular Weight =355, pKa = 3.7, Log Ky, =
3.0) will mostly exist in its

(a) Protonated form

{(b) Deprotonated form

{c) Half protonated and half deprotonated form

(d) Neither of the above

UTAHEANEME 84 AEERREN L TRRERESE |

9.

i0.

Il

12,

13.

An organic compound A undergoes first order degradation in the aqueous environment, having degradation
constant of 0.1 per hour and initial concentration of 2 mg/L. What is the half Iife of this compound A?

{a) When the air is clean (no contamination), what is the pH of the rain water? Please explain,
(b) What is ‘acid rain’? .
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